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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks

1.  Justas melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not

increase oceanic volume.

What type of argument is it ?

(1) Psychological (2) Statistical

(3) Analogical (4) Hypothetical

2. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

(1) 60 m. (2) 20 m. (3) 50 m. (4) 40 m.

3.  Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(iii) No bats are birds.
(iv) All mammals are bats.
Code :
(1)  (iii) only (2) (iii) and (iv) only
(3) (i) only (4) (@) and (ii) only
4. A good communicator begins his/her presentation with a :
(I) Repetitive phrase (2) Ice-breaker
(3) Complex question (4) Non-sequitur
ooo [[IINNNINCHNNE -
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qE:  TEUE-UF H TS (50) T5-Tahed i U ¥ | T U9 % 9F (2) S &1 Aty 3rframd ¥

1.

o-avo [ RMIFHIANA NI

50 U9 x 2 3{eh = 100 3k

S8 fireme ® 9 & freerd el 9 fTera &1 a9 9l 718 el 391 YR freerd gu as
femge ¥ Yz 1 3T 7Tél el 7 |

g frefafea o 9 /g YR o1 a2
(1) AR (2) difersE
(3) HIGRIHTR (4) RIS

T SIfeRaT ST9H e § e 20 Hiet 9el, STI Sife AR GEh) 10 Hiet Jel | et AR ge &
IS 9% 10 HieX Fel iR fet 3R g4 & 918 20 HieX 9at | 38 i | Tifet 37R 7e1 iR 70 Hiex
T | I T HrEerd 9 forat g WR?

(1) 60 HieX (2) 20 HiX (3) 50 HI&X (4) 40 HiX

1 1 SR a1 (a 3R b) fEU T | 37 1 oMuR el 9 =) fend (i), (i), (iid) 31K (iv) Femel e
T 1 39 e 1 9 L Sl YOI 9 § Tl T (STER a1 1 oTehel 19aT HYe €9 § od gU)
et / et o6t ortan ® 1

MY ST : (a) Tt THIES TR B €

b) e off Taft TETES T S ¥

i) IS vl eI T e §

(
(
(i) TS Talt TR T 2 ¥
(
(

e

i) 1T THMCS Ul T ST T |
iv) Gl TR =THTeS B € |
<
(1
3

) had (iii) (2) A (iii) IR (iv)
) e (i) 4) Had (i) 3R (i)
Teh IT9 FEIEh 3101 et frfafaa § 9 fored & i 82
(1) Yed 95ay (2) grHYEAE

(3) ifedd T (4) g

»
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10.

o-ano [ RUIFHIAA N

The classroom communication should essentially be :

(1) Abstract (2) Non-descriptive (3) Contrived (4) Empathetic
In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) 56 (2) 84 (3) 66 4) 76

Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Father (2) Uncle
(3) Grandfather (4) Father-in-law

The spatial audio reproduction in a classroom can reduce the students’ :
1) Motivation for excellence

3

(1)

(2) Interest in technology - orientation
(38) Cognitive load in understanding
(4)

4)  Respect for the teacher

It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.

The above two statements constitute :
(1) An argument (2) A conjecture

(3) A historical explanation (4) A narrative

In a classroom, the probability of message reception can be enhanced by :

1) Increasing the information load

(
(2) Using high decibel audio tools
(3) Establishing a viewpoint

(4)

4) Exposing the ignorance of students

=



10.

o-avo [ RMIFHIANA NI

Tl § Hare oAf7ard w9 9 1 =feT
(1) od 2) WR-foeromers  (3)  wEAE (4) deIYfasw

@l 1, 6, 15, 28, 45, ........... H STIE @& B
(1) 56 (2) 84 (3) 66 4) 76

3TST, ThIT 1 TG § | T ol ACHT i 3R TR HTd U 3T A AT ¥ Y71 foh a8 HH 72
THY J Hel BT A2, WA HT A= g1 I Al 3R TR o st FrAfafed o @

(1) e (foar) (2)  3fhet (M)
(3) UTSHIE (=el) (4) RI-ZA-al (TR)

et e ® Tt 9o g Tl ot aete 9 foenfi=i o frfafaa § @ @1 = g &/ 9ehdt € 2
(1) ke & fd 9o
Trenfient - sifufa=ma § &=

I el Teh EI T © To ST Yeal TR Heq e S o1 Se g1 el Tl hIg el o1 | 6 YW,
Sie o 3gd o wad § foRdt off sifiereq &1 fagia AT s =nfe

e <1 e fafda #d ® -
(1) Tk T (2) TH IEHA
(3) T Ufderies =ame (4) TH A&@H

Rt e o GaTe TRV shi WreHa o1 fefafad § 9 fhed ag@ S e € 2
(1) = 9R H g ek

(2) A ST % FoT IUHIUN hl FAN Hlh

(3) 3fteshivn Tenfud ik

(4) fornfefdi sl sAfURAT SR e

9]

P.T.O.



11. Given below are four statements. Among them two are related in such a way that they
can both be true but they cannot both be false. Select the code that indicates those two
statements :

Statements :

(a) Honest people never suffer.

(b)  Almost all honest people do suffer.

(c) Honest people hardly suffer.

(d) Each and every honest person suffers.

Code :

1) @and(d) (2 (Gand© () @and(®) (4 () and (0

12. In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :

(1) QFMFUOBI (2) EPHNTEAS
(3) MFUIQRTW (4) QMUBIADH

13. The interaction between a teacher and students creates a zone of proximal :
(1) Development (2) Distortion
(3) Difference (4) Confusion

14. A deductive argument is invalid if :

(1) Its premises are all false but its conclusion is true.
(2) Its premises are all true but its conclusion is false.
(3) Its premises and conclusion are all true.
(4) Its premises and conclusion are all false.

15. The next term in the series ABD, DGK, HMS, MTSB, .......... is :

(1) PsK (2) RUH (3) NSA (4) SBL

ooo [[IINANINHNENE



11. T 9R FHeE U MU E | S99 9 < 09 § 39 Te 9 Heitud € fF o <A1 97 81 Tohd § T o Sl
3T 7S 81 Wehdl | 39 e 1 AT B3 511 S Q1 R bl SATT HIAT § ¢
HY :
(a) TUMRR =Afa Ff w7 e T
(b) @ Geft THMRR A FE Ferd ¥ |
(c) EAMER =Afad TR & F e § |
(d) T TAMR AR F e ¢ |
e
(1) (a) TR (d) (2 (b) 3R (o) () (a) R (b) (4)  (a) W (o)
12. &t %2 H “COVALENT” % % BWPDUOFM %1 “ELEPHANT” T %< BT
(1) QFMFUOBI (2) EPHNTEAS
(3) MFUIQRTW (4) QMUBIADH
13. ek iR foenfofel & sfe WER Hare wHTe S 1 fmfor R
(1) fom (2) fapfa
(3) X @) u
14. UH fHmeTeTS 9 st € Afs
(1) SHh Fl STYR H TTeTd B 9 SHeh Ty Tel 2l |
(2) 3Hh G YR TR HEl B T SR ekt TTerd 2 |
(3) TEH SMYR e IR Fe=nd w+ft el 2 |
(4) TEH SMYR aA AR Fepd Gt T & |
15. @ ABD, DGK, HMS, MTSB, ......... T ST UE ¥
(1) PSK (2) RUH (3) NSA (4) SBL
o-ooo [ NUFRACACAAMAAN 7



Answer the questions 16 to 20 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. ) Buses . Others i

Year | vehicles wheelers Taxis Lakh vehicles Lakh (India)

(Lakhs) | (Lakhs) | (Lakhs) | N1 akns) | TN | vittions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

16. In which year the decadal growth (%) in number of cars surpassed that of the two

wheelers ?

(1) 1981

(2)

2011

3) 1991

(4) 2001

17. What was the average decadal growth in the number of cars during 1961 - 2011 ?

(1) ~217% (2) ~157% 3) ~131% 4) -~ 68%
18. Inthe year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)

accounted for :

(1) ~31% (2) ~43% B3) ~14% 4) ~24%
19. What was the per capita ownership of two wheelers in India in the year 2011 ?

(1) ~0.84% (2) ~ 0.068% (3) ~ 0.084% (4) ~ 0.0084%
20. The maximum decadal growth in population of India is registered in the period :

(1) 2001 - 2011 (2) 1981 - 1991 (3) 1961 - 1971 (4) 1991 - 2001
oo [INNIAIDRIRERR
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frfefiaa arferent ¥ fou U tfemel o ML W U9 16 W 20 ST ST S |

AT : WA  USHehd aTel shi WEAT 3 U hi THET

- %ol | gufedi e | W, S, 6 | A aRT | 3 | YRA i SHEE
() (emE) Sl (@) | (Tm@) | (dmE) | () (fafera)
1961 | 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 | 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 | 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 |1417.58| 1018.65 191.23 16.04 | 70.64 | 121.02 1210.19

16. o o o R o1 T 1 g8 ST Ihg (%), FUGU aTel ohi W& H 8 ST Ihg (%) l T HL
TE ?

1)

1981

(2)

2011

)

1991

(4)

17. 99 1961 - 2011 % SRH ®RI S G&A1 § i o gig fohat W@ ?

(1)

~ 217%

()

~ 157%

)

~ 131%

(4)

2001

~ 68%

18. 9§ 2001 H, ATEHl i el W& H 9 AT am@Al (Ffed ameHi) i WA Sl Fiawr a1 o ?

(1)

~ 31%

(2)

~ 43%

®)

~ 14%

19. o9 2011 H WA H gufedn dreAi =1 9id =afed wafied foran o ?

(1)

20. Trefafed & 4 fr <o & <RF 9Rd ot sHEe | qaifus gig gt ot 1 2

1)
Jll

(

D-000

~ 0.84%

2001 -

2011 (2)

(2)

~ 0.068%

1981 - 1991

®)

)

o

~ 0.084 %

1961 - 1971

(4)

(4)

(4)

~ 24%

~ 0.0084 %

1991 - 2001

P.T.O.



Read the passage carefully and answer question numbers from 21 to 25.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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TEITYT Rl &1 | UG 31X U9 WEAT 21 | 25 ST S8 |

STeraTg, URad 1 TR TRt w1 Haifess TR aa T S €1 6T TEieRT, Hie T,
WTE R, Snfefer nifafafe, yrehfaes HaneEt oiX difder STaEtEnT W Hiasha Y9 gedl &1 Afvad ety
TanIfersh ¥4 URafdd Bt el § | STerarg, Uikerd= Heielt S sl 0 i aet TRy et (ST .5, )
% TIR Serarg IRad= & JurE bl ugel &t Hfard foran s et © iR denfes fresed o wifa € o waehan
3R TiorTgeer SRaATE fohan ST oTawde ¥ 1 Sierery ufked & 9fd Serdr fak e 9 & S[E ® steen
ot wrepfass TaneA R € R T ¥ dfew Stoarg, afedq & gmifees, snfde i) aemifas smam o §
i1 39 T 1 WA X € o foh WehR & Sroramg uferd= fafust wei =1 yenfad e €1 e safaai
% T WThfdeh SRS S W, 916, Helashad 1S o IR0 §rdfd sl eare &fd i gfd s & fag
IR & WA B § | e e @ e SR Soery 95aa i faree Fhitadl 9 T8 8 59 W@ § iR
Setary URede o HR 3T o foTT ITH SEM TR F9T 9o foh o1ae sifeae s v @ smom | 9
Ut ¥ foh Uehfd o S<erd STl o W WHSA S H $ GHEEl Sl Herdl Hhi Sl w1fet | SThe
o Uishal ® Sk area & 9 Affva vfas & w1 aese foem™ § o197 &1 el & 9 Had Sl
¥ oty ufkadT & @Y He & ded ggfad e SR uRadd s & ey § Sorarg uiadd &
TRRIHR YISl ] HH HH (GhNIcHS FHTE ol HEST 33H) & fan e Su forw o €1 39 39 o
Wenfieha fasheq aen: 9 g8 THal gRan Auan feqsli W ag - Iard 3R § Tt SAfRT TR R TR
IR S @ F THA H I H A FEE WHA § 1 3T TG | A HeAsd % faw go =t
TR, ek Sel YeleH, e Sifam Yeier, fafier st fased oiR Sra-fafasrar wiemm afmfad €1 Sfvaes
T g % wRO 8 1fa € Seerg # REdd 8 W7 I8 STeeRyds 8l Sl ¢ foh Saarg giedd & 9fd
foenreretiat el 1 e 1 A foRan ST IR IR STIel &HaT bl S el ST T2 TS STIeher Aifaal
FHEifad i M | Sorarg, uRad & 9fd ST%e e ¥ UL IR ARisg gt Tl W g iR
TRerdH =t | HAl § 1 IdEH IR 9T &% Sorer] & |1 GEsre fa8H ¥ SHEEl o1 Faitis
IRAARe T 1 ITART LA IR a1 Trshiferent & fafaefieror & - aqfaa grififeal & sTm
fed STO TRIa1 S S1feT | TR IR T FREl o 1Y dred foen gu wHe oo et
T TR SR F 1 TR fohan S =nfeu | oo deeht geas e ufifeafae @ felk 6 €1
STaTyg et aeerel ST =H Wit FeArst & e grHe f9e™ & Gy | T gyerEl & U ged IH
3R YE T TAHT HHSHET 1 HI ¥ IR 19 erary Ufed= % WY drere foeT @ ¥ 1 e e
% fore 3= fonmd & Higet Yot & 799 STHYE % SMER R 9+ T $ik Giad I & T8y danfar
F E | TEH o g ot e @ € 99 S 9, g iR Qe SiE s HiH geiet @ fafhar e o)
STY ST ISl & | WS fae™ Y T WHifaar sger & e | el o @R Seey
TREdA S aeie H FHSHEI ol IR-9R =R Serary fefaei qen 7 sierery feafaai o1 =re fearfai =61 wmmn
HE IS W ¢ | IR 9 Y 3 TSR 61 S Afvesh aae ot aeie 9 Sieery uiad % JuE sl Hegd
FR T &, STty I & 91 gree foem aun Fve, agfud iR guafag Sue ged | weme faertt )

oo [[{MHNNMCHINERHY = riro.




21. The traditional knowledge should be used through :

(1) Synergy between government and local interventions
(2) Modern technology

(3) Its dissemination

(4) Improvement in national circumstances

22. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a

)  Their dependence on natural resources
(b) Geographical attributes

(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (@), (b), (c) and (d) (2)  (c) only
(3) (a), (b) and (c) 4) (b), () and (d)

23. Adaptation as a process enables societies to cope with :

(a
(b

) An uncertain future

) Adjustments and changes

(c) Negative impact of climate change

(d) Positive impact of climate change

Select the most appropriate answer from the following code :
(1) (b), (©) and (d) (2) (c)only

(3) (@), (), (©) and (d) (4) (2 and (9

24. To address the challenge of climate change, developing countries urgently require :

1) Adoption of short-term plans

3
4

(1)

(2) Adoption of technological solutions
(3) Imposition of climate change tax
(4)

Implementation of national adaptation policy at their level

oo [[[IILHAIANADERTY



21. IR I 1 ITAM FAfafad | 9 former mream § fovan St =nfew ?
(1) TRER R T &l & = aerd 9
(2) syfiek GrENfTet gr
(3) THh TEIR-TER 5N
(4) T aRfEfdEl § gur g
22, = ey uRad % gfd e safeal st derar & &R for T E | wE W ATl He S 9 B
(a) UTRiden WETEHAT W 3R F8Ra
(b)  «iifereh o
(c) forita Hamemi =0t et
(d) URUER A I ST
<
(1) (@), (b), () 3R (d) 2 &% (o)
() (a), (b) 3R (0) @) (), () W (d)
23. TIHE Tk Uichan & &9 § g ol efafed § 9 feas @y g foem § aaef amm &2
(a) A= 9ios=
(b) WS iR afEdE
(c) Sty e sl ThRNIcHe T
(d) ScTeryg Uferd sl HehRIcH GHTE
frefafed e o 9 waifs Iuger 3T sl =37
(1) (b), () ¥R (d) 2) % (o)
() (), (b), () M (d) 4 (@) 3 (o)
24, oAy 9REdA @ A 9 ued & fore fasmeia S o1 st w9 9 frefafea § 9
T I ST © 2
(1)  STearEfy AT ST
(2) UTENRTRRE THIEE SO
(3) SNEIRS l‘II{<>I(1"| h ¥ AT
(4) 379 WR W U S Fer il i hrEtee
o0 [[{1HEHTAIEHIRETA 1



25. The main focus of the passage is on :

(1) Adaptation to climate change

(2) Social dimensions of climate change

(3) Combining traditional knowledge with appropriate technology
(4) Co-ordination between regional and national efforts

26. Which of the following come(s) within the ambit of the term ‘corruption’ ?

(a) Misuse of official position

(b) Deviation from rules, laws and norms

(c) Non-action when action is required

(d) Harm to public good

Select the correct answer from the code given below :

(1) (a), (b) and (d) (2) (@) (b), © and (d)
(3) (a) only (4) (a) and (b) only

27.  Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Tezpur University (2)  University of Hyderabad
(3) Jawaharlal Nehru University (4) Banaras Hindu University

28. What is the name for a webpage address ?
(1) Protocol (2) URL (3) Domain (4) Directory

29. Occurrence of natural hazards is affected by :
(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change

Choose the correct answer from the code given below :

(1) (a), (b) and (d) (2)  (b), (c) and (d)
() (@), (c) and (d) 4)  (a), (b) and ()
oo [[[IINIIOANRAY =



25. 39 TS 1 Hehfweh fag ® -

(1) Sicerg wfed s & 9fd ST

(2) STy U= % WIS A
(3) URURE M I FHfaa GrENfTeh! & e sie
(4)

4) & IR U TG & S 9Hed

26. freAfafEd § @ ®F-91 ‘ yemER’ w6 & 9y § omar €2
(a) AT U T GEIAN
(b) 7o, Al IR Al | foeme
(c) STel HRATE TELFH B I HHATE 7 HTAT
(d) <k Hufd sl THREH

= U U e H W@ SW A ¢
(1) (a), (b) R (d) 2 (@), (b), () 3 (d)
(3) hee (a) (4) = (a) ¥R (b)

27. Tr=fafea fovafaamem § 9@ 68 @l 2017 # 969 s favafaaes & fau pareas

(fafster) =1 qEEhR T gl ?
1) R fovafaame ) AR foafaEeE

(3) AT g% favafaemea (4) oA e favdfeammT

28. II-UB W (TSH) & ford e A &2
(1) Hrereid (2) IIANTA (3) <A (4) SRR

29. Yhfas ugrel & wfed e # f=fafad 1 yue ggar @

(a) ofF - ITEF § 9REd= (b) & fem iR fmim
(c) TSI | A (d) Sierary aRedd
= fou 7T e H 9 FWE IW H =TI R
(1) (a), (b) 3 (d) 2 (®) (© 3R (d)
B3) (@, () () 4)  (a), (b) 3R (o)
o-oo [ IIEHHEAIAIERA] 1




30. The data storage hierarchy consists of :

(1) Bits, bytes, records, fields, files and databases
(2) Bits, bytes, fields, files, records and databases
(8)  Bytes, bits, fields, records, files and databases
(4) Bits, bytes, fields, records, files and databases

31. What is the full form of USB as used in computer related activities ?
(1)  Universal Serial Bus (2)  United Serial Bus
(3)  Ultra Security Block (4)  Universal Security Block

32.  Which of the following are the goals of higher education in India ?

(@) Access

(b)  Equity

(c) Quality and Excellence

(d) Relevance

() Value based education

(/) Compulsory and free education

Select the correct answer from the code given below :

1) @), 0), ©) (d and (¢) 2 @), 0), ©) (@ () and (9
(3) (@), (b) and (¢) only 4) @, O), (© and (9

33. Which of the following represents billion characters ?
(1) Kilobytes (2) Gigabytes
(3) Terabytes (4) Megabytes

34. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Chief Election Commissioner (2) Comptroller and Auditor - General

(3) Judge of a High Court (4) Governor of a State

oo [[{IMNICINIRHTY =



30. ST WERY % AfushH | wiHe § ¢
(1) foew, ey, frprsy, wiegd, iEc qon ST
(2) foew, smeeH, wieew, wied, fpTeE qo ST
(3) eEH, T, wieed, RSy, Wigel a1 ST
(4) foem, smszw, wiegy, frpre, weed aun St
31. HPRR Y Grefed S § FAN g I.THS. H QT E9 8 2
(1) e HifTe o9 (2) FARee Hifgd a9
(3) 3o faeRnfE sain (4) g faenfet =i
32. WRd ¥ 3o fnen & ote Frafafea d e 9 €2
(a) eI
(b) Em=
(c) TN T TR
(d) UTEfTRa
(e) T MR et
(f)y sifadd & gua faen
= feu T e H § W IW A ¢
(1) (@), ®), (@) () R (e) @ @ 0)© @) () IR @
(3) A (a), (b) ¥ (o) @ (@, ®), () 3R ()
33. frefafaa # 4 $H-w wF ona (fafeem) Fieem yefiia #ar § 2
(1) foperamszs (2) T
(3) e (4) e
34. freAfafed § 4 68 dug & wiga g & fomn Iegdfa gR1 gern s Sk § 2
(1) & I ST (2) T iR werrEn wWas
(3) S AT T =AEH (4) TF o T
o0 [[{1HEHTAIEHIRETA v




35.

36.

37.

38.

39.

40.

41.

Which of the following pollutants is the major cause of respiratory diseases ?
(1) Carbon monoxide (2) Volatile organic compounds
(3) Suspended fine particles (4) Nitrogen oxides
Which of the following domains is used for - profit businesses ?
(1) .edu (2) .com (3) .org (4) .net
Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?
(I) Methane (2) Carbon dioxide
(3)  Chlorofluoro carbons (4) Nitrous oxide
Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?
(1) Fergusson College, Pune (2) Maharaja’s College, Mysore
(3) Miranda House, Delhi (4) St. Stephen’s College, Delhi
Assertion (A) : In urban areas, smog episodes occur frequently in winters.
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.
Choose the correct answer from the code given below :
(1) (A) is true and (R) is false
(2) Both (A) and (R) are false
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)
Among the following fuels of energy, which is the most environment friendly ?
(1) CNG (2) Hydrogen (3) Ethanol (4) Biogas
In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?
(1) Conference (2) Symposium
Research Article (4) Workshop mode
HIH!I\II!II“IH\IN\I!II“IIIIIH\||\||“|\|HII\IIHI\H\HHIHII“IIHI\ 1



35.

36.

37.

38.

39.

40.

41.

frefafad & ¥ SHH-91 Ygus Ya8=-a79 ¥ eI STHiE! 1 TqE FR § ?
(1)  HTeA HHISATES (2) AR e AR
(3) Tocifad gaw s (4) TEIISH RS

frfafed el # fFa STt =R 2 Far T S € 2
1) 3ZSY(Tg) (2) M wH(HH) 3) .37 WA (4) T (W)

frefafed § § SH- ygws 19 Uk €9 9 iR sTEifies fafafy & qRomress A 9 3a=
& el € 2

(1) #Hem (2) e SEIATHES

(3)  RARITY h1eiT (4) ey SfFEe

TS Fieefeh Joertor e (TH.31E. TR UE. ) & 3R ffafad o @ ford 2o o, Td9s wics
(2017) T T HTe G311 2
(1) e Fiers, I (2) RIS e, HER

(3) e e, fooet (4) U Wy Hiaw, feee

afireRe (A) . IRA & H, e & foil § TR YH-FIeX it HeAd wfed 2t €

e (R) : SIS o Hrad H & T I h FAeE | A1 W & T W@ e oS wen A
S9-Gefq (STEmE) i Sl ¥ |

= U 7T e H | FEl ST h1 = R -

1) (A) ¥&I ¢ iR (R) o B |

2) (A) 3R (R) I Terd T

3) (A) 3R (R) <M W& € IR (R), (A) H T A T

(4) (A) 3R (R) 3 T € WA (R), (A) Fi TEl = T |

frefafed et Somi & SF-T1 S waieRr & fow god % © 2
(1) TS (2) TESSH () THE (4) wEE

frfafeaa § & forg sraten ¥ fauri ok 4Ei &1 = 39 (Tagq) &1 §9a 1 ST 9ehdl § 2
(1) A (2) HSt
(3) My ™ (4) wrdemen ggfa
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42. A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?
(1) Ex-post-facto method (2) Survey method
(8) Case study method (4) Experimental method
43. Which of the following is susceptible to the issue of research ethics ?
(1) Choice of sampling techniques
(2) Reporting of research findings
(3) Inaccurate application of statistical techniques
(4) Faulty research design
44. Which one of the following is a key behaviour in effective teaching ?
(1) Instructional variety
(2) Questioning
(3) Using student ideas and contribution
(4) Structuring
45. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :
(1) (a) (d) and (e) (2)  (b), () and (f)
(3) (@), (c) and (d) 4) () (¢) and (f)
46. Which of the following set of statements best represents the nature and objective of teaching
and learning ?
(a) Teaching is like selling and learning is like buying.
(b) Teaching is a social act while learning is a personal act.
() Teaching implies learning whereas learning does not imply teaching.
(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
() Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.
Code :
(1) (@), (b) and (©) (2) (@), (b) and (d)
() (@) () and () (4) (b}, ) and (¢)
S T T



42. T VEhdl s/l bt o= - SSgEr W Aoy fafn & gure s Ao S i YA HAT ¥ 1 hiA-
Gt wiy-fefy geeh ferq Suger et ?
(1) wERR 9gfd (2) waHU ggfd
(3) =afe sera ggfd (4) YT gEfa

43. Trafafeaa § @ s@-a1 e Afded 1 gy @ gt § 2
(1) fiee™ Tl =1 fomed
(2) iy TRl sl KA e
(3) WifEHent deheitenl <1 STFTe ST
(4) T HT TGN H1 TGO BT

44, Trafafeaa § @ o0 guret freo § yqE @R § 2
(1) STIeuHHe fafaed
(2) RIS
(3) Toreneft & fo=mi wd tagH 1 TTEN
(4) HEA

45. = § T g § § fomnefl & 37 sifuararon w1 fafea S Rreror-stfirm womedt S gt 9 e o
TEEe T 3T W I 30T F F faU T8t F2 1 =91 wA
(a) fornefl o1 q& swa (b) Toremeff =6t witafier so wuw
(c) Tormmef =1 stfyrerea (d) forneff = forepmd 1 srereen

(e) foenef =t wm =t oted iR witer (1) foeneff &t enfies g

1) (@), (d) R (e) (2)  (b), (c) ¥R ()
3) (@) () ¥R (d) 4) (), (e) 3R (f)

46. Trafafed sl & aq=a § 9 HH-91 faam oiR siferm & yohfa T 3evd 1 wetad &9 H e
HAT Q2
(a) Toreqor forsra & TAM § SR STfTH SOSRT & ST § |
(b) Toreror wrfser Fea © Safer Afermg safaaTa Fa §)
(c) Toeror & stferm fafeq ® srafer stferm foreror =1 wmfea =i shwan|
(d) TRreTor T YRR 1 T I S § SR STRTH T8 Y hid SIel B |
(e) Toeror us o1=a:fshen & 1R ypfa o Foruch ® wfer stferm we fowa o eria wfsha &l 71

W :
(1) (@), (b) 3 () 2 (a), (b) ¥R (d)
(3) (@) (d) ¥R (e) (4)  (b), (o) ¥R (e)
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47. Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Action Research (2) Experimental Research
(3) Fundamental Research (4) Applied Research
48. Infinalizing a thesis writing format which of the following would form part of supplementary
pages ?
(1) Conclusions of the study (2) Bibliography and Appendices
(3) List of tables and figures (4) Table of contents
49. Assertion (A) : All teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :
(1)  (A) is true, but (R) is false.
(2) (A) is false, but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
50. On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :
(1) Norm - referenced testing (2) Criterion - referenced testing
(3) Formative testing (4) Continuous and comprehensive evaluation
-o0o-
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47. frafafes # @ oy & frm yor § dee fufadl § guR w eam Swisa o s g2
(1) foramcer g (2) Ui Wy
(3) Hifersk oY (4) oFERd WY
48. TH WY ToH TRET Wi 1 i &9 o # FAfafed 9 § -9 Qeh-T%1 H1 97 971 2
(1) oTeae & frepd 2) Tg-Fg SR gRfere
(3) HRME iR Skl i g (4) fowa-wreh
49. 3fueRed (A): Tt foreror # siferm fafea € &
@ (R) : T 1 ST B o T 38 eTeavass &9 9 e § s 91 =fet |
frfafaa § o W& S| H1 =91 &Y
1) (A) T B, AfFT (R) TTerd B
(2) (A) T g, iR (R) T €
3) (A) 3R (R) I W& § 3R (R), (A) T HE TILH T |
4) (A) 3R (R) THI W& §, AfRA (R), (A) 1 HEl TR & < |
50. HehoHIcHS TN o STMHR T Tk fieeh 319 foenfi=i o feares =Haer o1 394 sAfyyerea gited
Sire Sieft o Heo # =menfad Far €1 59 el S
(1) W Hefyid adem 2) Trere wefia wem
(3) i Tder (4) Edd Ts SAYH AR
-00o0-
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Space For Rough Work
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